Stat 451 Homework #5

458 E(X) = (2)(0.40) + (4)(0.60) = 3.20, and

E
E(Y) = (1)(0.25) + (3)(0.50) + (5)(0.25) = 3. So,

(a) E(2X —3Y) = 2E(X) — 3B(Y) = (2)(3.20) — (3)(3.00) = —2.60.
(b) E(XY) = E(X)E(Y) = (3.20)(3.00) = 9.60.

4.62 p =52 and o = 6.5. Solving p + ko = 71.5 we obtain k = 3. So,
1
Pp—3c <X <p+30)>1- 2 = (.8889,
which is
P(32.5 < X < 71.5) > 0.8889.

we obtain P(X > 71.5) < ﬂ = 0.0556 using the symmetry.

470 E(Z) = E(XY)=EX)E(Y) = [ [*16zy(y/=*) dv dy = 8/3.

472 py = py = 35. 0% =02 = [(1)2 + (2)2 + -+ (6)(1/6) — (3.5)% = f—;

42 2 _ 175,
(a) oox—y = 4oy + 0y = 35
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(b) oxt3y—5 =0% + 907 =



